
Chapter 1

with

J. Choose (be correct state-ment.
(a) Use of goto enhances the logical clarity of a code.
(b) Usc of goto makes the debugging task easier.
(c) Use goto when you want to jump our of. nested loop.
(d) Never usc go to.

2. \Vhic,h is true of conditional compilation?
<a) "is taken care of by .be compiler.
(b) It is setting the compiler option conditionally.
(c) 1'. is compiling a program based all a condition.
(d) It is jaken care of by the pre-processor.

3. C was primarily developed as a
(a) systems programming language
(c) data processing language

(b) general purpose language
(d) none of tbe above

4.Ciss
(a) bigb level language
(b) low level language
(c) high level Ianguage with some low level features.
Cd) low level language witb some high level features.

S. Even if a particular implementation doesn't limit the number of characters in 3_0 identifier, if
is advisable to be concise because
(a) chances of typographic errors are jess
(b) it may be processed by assembler, loaders, etc" which may have their own rules thai may

contradict the language rules
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(c) b)' being concise. one can be mnemonic
(d) none of the above

-6. The minimum number of temporary variables needed to swap the contents of two variables is
(a) I (b) 2 (c) 3 (d) 0

7. The purpose of tbe following program fragment
b 111 5 + b;
s = b - 6:
b .. b - 5;

where s , b are two integers is to
(3) transfer the contents of s to b
(b) transfer the contents of b to s
(c) exchange (swap) the contents of sand b
(d) negate the contents of sand b

8. Consider the function
f.ir.d (int x , int y)
{re tuen I x < y) ? 0 : ( X - y»);}

Let a. b be two non-negative integers. The call find {a . find (a. b)} (;,81) be used to
find tbe
(a) maximum of a. b
(c) SU", of a. b

(b) positive dif[erence of a . b
(d) minimum of a . b

9. Let a. b be two non-negative integers. which of the following calls, finds the positive
difference of a and b?
(a) finel(a.b) • find(b.a)
(c) a + find (a. b)

(b) f i.nd t a , find (a.bl)
(d) b + find (a. bl

10. If integer needs two bytes of storage. then maximum value of an unsigned Integer is
(a) 2'· - I (b) 2" - I (c) 216 (d) 2"

*11. (f integer needs two bytes of storage, then maximum value of a signed integer is
(a) 2'· - I (b)2" - I (c) 2'· (d)2"

*12. printf I "'d". printf (. tim") I;
(a) results in a syntax error (b) outputs tim3
(c) outputs garbage- (d) prints tim and termlneres abruptly

*13. If abc is we input, then lbe following program fragment
char x , v , z,
prinef ("'d"', scanf

(a) a syntax. error
(c) segmentation violation

("'ctctc", &.x, &y. &z)}; resul ts in
(b) a Iaral error
(d) printing of 3

*14. Consider the statements
pucchar(getchar() i

putchar(getchar(»;
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If..
b
is the' input. t.be output will be
(.) lUIerror """'8e (b) thi. can', be tbe input
(c) ab (d) a b

tS. Let a. b be two posluve integers. Which of the followin, options correctly relates / and "1
(a) b • (alb) 'b • a\b (b) a • (a/b)'b + a'b
(c) b • (,,\b) 'b • alb (d) a • (a\b) 'b + alb

16. Liteml mecn~
(a) a ,Iring (b) 3 string constant (c) • chamcter (d) an alphabet

17. Length of the siring "correct" is
007 008
(c) 6 (d) implemen'ation dependem.

la. Which of the following are true regardless of lbe inlplemenUllion?
<a)si zeo! (Int) Is no' lessthan $i zeof (long)
(b) aizcof (ahort) equals sizeof (int)
(c) sizeof (int) equw s~zeot (unsigned)
(d) al zeo! (double) is act less than sizeof (float)

19. Coercion
(a) lIltes place ICrOOS an usigtUDetll opentor.
(b) takes place If an opcralOr las operands of differeo, cia .. 1)')leS.
(e) me.. s caMing.
(d) none of the above.

20. Choose the correct staknlenl$.
(a) Ca.sling refers to implicit type conversion,
(b) Coercion rerers to implicit type conversion.
(c) Casting refe... to explicit type conversion,
(d) Coercion refers 10 explicit type conversion.

21. Consider the fcttowlng program fragment
char c • 'a';
while (c ...._ <= '2')

putchar (xxx) ;
If the required ou,.."is abcdefghijklmnoPQrs~uvwxyz. lben xxx should be
(a) c (b) c.. (c) c 1 (d) -c

22. Which o( lbe (ollowin, oommelllS are true?
(a) C provides no inpu,-oulpu' features,
(b) C provides no file "''''as features,
(c) C bono"'ed most of ilS ideas IiJ>mBCPL.
(d) C provides no feature. to manipulate composite objects.
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24.

If Y is of integer type then the expressions
3 • (y • 8) I 9 and Iy

(a) must yield the S8Jne value
(c) may 01 may Dot yield tbe same value
if v is of integer type then the expressions

3 • (y • S) I 9 and (y
yield me- same value if
(:I,) Y is an even number
(c) y - S is an Integral multiple of 9

• 8) / 9 • 3
(b) must yield differem values
(d) none of the above

-23.

• 8) / 9 • 3

(b) y is an odd number
(d) y • 8 is an integral multiple of 3

2.1:i, Integer division results in
(a) truncation (h) rounding (c) overflow

26. which of the foUowing comments about EOF arc true']
(a) Its value is defined within stdio. h.
(b) Irs value is implementation dependent.
(c:) Its vaJue can be-negative.
(d) Irs value sboeld not equal the integer equivalent of any character.

·27. The value of an automatic variable that is declared but not initialized will be
(a) 0 (b) -I (c) unpredictable (d) none of the above

(d) none of the above

28. Choose the correct statements.
(a) An identifier may start with an underscore.
(b) An identifier may end with an underscore.
(c) IF' is a valid identifier.
(d) The number of significant characters in an identifier is implementation dependent.

29. Choose the correct statements.
(a) Constant expressions are evaluated al compile time.
(b) String constants can be concarenared at compile time.
(c) Size of array must be known at compile time.
(d) None of the above.

30. The cons t feature can be- applied to
(a) an identifler (b) an array
(c) tin array argument (d) none of the above

3J. Which of the following operators takes only integer operands?
(a) + (b) • (c) I (d) %

32. ln an expression involving II operator. evaluation
(a) will be slopped if one of its components evaluates to false
(b) will be stopped if one of its components evaluates to true
(c) lakes place from right to left
(d) takes place [rom lef, to right

•
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